A 0 B. —1 C.~ D -
A0 B -1 £~ Pz
§ s wﬂ!e Cartesian equation of the locus of |z — 2| = 3, where z is a complex
~ number is:
Ry -4x +5=0 C.x? +y?-4y-5 =
R X+ yP-4x-5 =0 D x? % y2-4x-3 = 0
i

: ' 1ation cartésienne de | ensemble des paints Z du plan complexe
!z-—-Zl = 3 ou z est un nombre complexe est:

CAMEQ*)“;CQ#\ y"d 4y~ 5 =

QQQQ
IIIIII
lllll

O SO ON Sl
itel DUAL CAMERA



S | MATHEMATIQU ES.

_i.'jﬂi E}H%NJIV'?«:I_
& Lo canddal répondra aux Guestorn

-
¢ dans la langue de 50N
CHox
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sestion or incomplete statemert s fallowed by I8 Chague guestion ou affirmation a comy! g
guested answers. Only ona is correct. Tircle de quatre réponges ou propositions. Une seuie &St
o worresponding to the corrsct answer, If you i bonne Entourer la letire c::m*(e*:&;wn{fzmus?. E N Cas .
arron, mark an x on the wrong answerand . 2 derreur, mettre une x sur le Choix errone al entoure!

L‘f:i e correct answer. | @ Donne 12tre,

W BEianiple A@)c 0 ora(B) (B W Bis the correct answer. | Exemple A @)c oo a(®) ¢ () siB correspend 2 ia
| 4 bonne réponse.
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1) H2z"=cosnd + isinn®, then " + z7" =1
A)  cosng. B} cosH C) 2sinn@ D) Z cosnd

. e S 2" = cosn@ + isinn®, alors 2 4+ 27" =7

= B) casd AT C) Zsinng 1 D) 2 COs

~3e"*atx= 0is

-

“* lorsque x = § est
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Sinx+sinexy o
D [ By 14cosx+tcos2x
) ©
) tanx — cosx  B) tanx + cosx C) tanx D)) cotx
.I @
= Inxy+sins
| SINX+8LtnLXx
YLa simplification de e 2227
- = F+cosx+cos2x

A) tanx —cosx B) tanx + cosx C) tanx D)) cotx

18) The distance between the points (a cos «r, asin a)and (a cos £, asin #)is:

A, aCOS( ‘-ﬁ) C. asin (.....H. {f)

- ‘@~ PO 5 YO

B& 2&693 ____;E D' Zﬂ, Sin ({E_;ﬁ’)
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@ 3C4) Giventhat F = 9—'35 where G, m and M are constants, then
9 5
[ 52 r : 2
AP (r
| GmM -2 LR {
Z%’ a Sachant que ¥ = o o ou G.m et M sont des costanies, e
=
2emM | B GCIM C' .'i.f...{.f..fi D} ﬁiﬂﬂ
- b A’) & r:“' ) r 3 rg ; Vs )
: 5) Given that f(X) 3608 x - 4sin x. The greatest value of w:*;?z;: iS5
4 ? !

L _ ’ e # 1 :
" Sachant gue f{x) = 8cos x - 4sin x, la plus grande valeur de o est .

A) L B) i O~ SRISRLY
osition vecteor of the point of mtg;;sactscn of the fines

#AE=j+ k) ane'F= Zi+4j+6k+ p(22+}+3k) is:
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Gy + 4 18 increasing is?

. 'B) The range of values of which the function /(x) = x°
ke A) x> 3 B)x <3 C)-3<¢x<3 Py < —-Ux>

P
J

. : ‘ 4 wee b prrmicceante 681 7
4 L'ensemble de valeurs pour lesquels la fonction f(x)=x"-6x+4 €SI crolssante esi

A)x > 3 B)x <3 C)-3 < x <3 Dix < —~UX2>3
9) XN, (r+1)=7
5 A) 495 3) 490 )33 D)15

b 12 10) The vaiues of x which satisfy the equation 3** — 10(3*'') + 81 - D are.
- A) 2and 3 'B) tand 3 C)-1and3 D) -2 and -3

surs de x qui vérifient I'éguation " aghre 19{3“‘ )+ 81 = 0 sont
: 8) tetd - €163 D) -2et-3

fumﬁaﬁ ;"{xﬁ ‘:“ ;,x % Z the range of the function is?

¥ D) x = -1

.,_ R

w: )

SHOT ON ST5
tel DUAL CAMERA®

o all
ek



	IMG_20210808_121246.pdf (p.1)
	IMG_20210808_121213.pdf (p.2)
	IMG_20210808_121256.pdf (p.3)
	IMG_20210808_121223.pdf (p.4)
	IMG_20210808_121232.pdf (p.5)

